N

Xn(z) = Zhl,z_”, lz| =1,

v=0

W) = —Xn(e)P, —m<6<m.

Moments for this distribution:

g = / e Wdung), jez,
N—j—1
_ > hhesj, j=0,1,2,...,
k=0
i, j=-1,-2,-3,...
A, = det(pi—j)ij=0,..n
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fo  cc Hen
~ 1 . .
Sh(z) = : : ,
n( ) An_]_ Mn—l /"[’—1
1 ... Zn
/"LO o« o Mn
g2 = | 2
An_]_ /’L—I‘H—l RV
Zn e 1

(5,)ven, monic, orthogonal with respect to

(r.e) = | " F(e%)2(7) dwn(6)

—Tr

Michael Skrzipek (FeU Hagen) Construction of Szegé Polynomials Bernried, Feb. 19-23, 2018



S(z) = %H(z):=1,

Sn(2) = 280-1(2) + an5;4(2)
$5(z) = apz85(z) +8-1(2), n>1.
Sn 1 Zp(n 2 ’ nz 1 )

Sn—1,1 ns 1(/n_1) —v—
anzg,,(()):_<zs Ll 2imoPr P

<§;,1, 1) ZZ épz(/n 1)Nu+17n
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on = (5n,5,) =(5:,8) n>0,

= 5n71(1 - ’an|2) 3 n> 1 )
n

= mw JJx—la?), n>o0,
k=1

<§;7 Z§n> = <§71(7 §n+1 - an+1§:> = _an+16n

Bernried, Feb. 19-23, 2018

Construction of Szegé Polynomials

Michael Skrzipek (FeU Hagen)



Levinson Algorithm

§0(Z) = 1, (50 = Ko
For n=0,1,2,... do

L <Z§,,, 1>
dn+1 = 6,., )
Spt1 = 255(2) + ap+18y(2)
Snp1 = On(l—]ant1]?)
done
— Back
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